大学英语统考模拟卷4
第一部分：英语知识运用 （共5小题；每小题3分，满分15分）

此部分共有5个未完成的对话，针对每个对话中未完成的部分有4个选项，请你从A﹑B﹑C﹑D四个选项中，选出可以填入空白处的最佳选项.
1. — May I have three tickets, please?

— ______________

A. It may have begun already.




B. Please come tomorrow.

C. I’m sorry we’ve sold out.





D. You are too early.

2. — I’m sorry to give you so much trouble.

— ______________

A. That’s OK.








B. All right.

C. Not at all.








D. Glad to hear that.

3. — What’s the postage for a letter to Beijing?

— ______________

A. It’s hard to find out.






B. I’ll have to weigh it first.

C. Anything else?







D. I’ll take the letter.

4. — How nice it is to see you here! I haven’t seen you for ages.
— ______________

A. What can I do for you?

B. Nice day, isn’t it?

C. Let me introduce myself to you.

D. Oh, it’s been a long time. How is your family?
5. — I won the game, Mike.

— ______________

A. That’s all right.







B. That’s a good idea.

C. It’s my pleasure.







D. Congratulations!

第二部分：阅读理解 （共10小题；每小题3分，满分30分） 

此部分共有2篇短文，每篇短文后有5个问题，每个问题后有4个选项，请你从A﹑B﹑C﹑D四个选项中，选出可以填入空白处的最佳选项。
Passage 1

Packaging is an important form of advertising. A package can sometimes motivate someone to buy a product. For example, a small child might ask for a breakfast food that comes in a box with a picture of a TV character. The child is more interested in the picture than in breakfast food. Pictures for children to color or cut out, games printed on a package, or small gifts inside a box also motivate many children to buy products or to ask their parents for them.

Some packages suggest that a buyer will get something for nothing. Food products sold in reusable containers are examples of this. Although a similar product in a plain container might cost less, people often prefer to buy the product in a reusable glass or dish, because they believe the container is free. However, the cost of the container is added to the cost of the product.

The size of package also motivates a buyer. Maybe the package has “Economy Size” or “Family Size” printed on it. This suggests that the large size has the most product for the least money. But that is not always true. To find out, a buyer has to know how the product is sold and the price of the basic unit.

The information on the package should provide some answers. But the important thing for any buyer to remember is that a package is often an advertisement. The words and pictures do not tell the whole story. Only the product inside can do that.
6. As far as a breakfast food is concerned, which of the following things is less attractive to a child?

A. interesting pictures on the package



B. small gifts inside the package

C. the food itself







D. games to play on the package

7. Which of the following statements is true according to the passage?

A. Customers can get reusable containers for free.

B. Customers actually pay for reusable containers although they don’t realize it.

C. Customers will spend more money if they buy a product in a plain container.

D. Customers prefer reusable containers because they want to use them as decorations.

8. A buyer is also interested in ____.

A. the size of the container





B. the products inside the package

C. the words printed on the container



D. the large size of the container

9. Which of the following statements is NOT true according to the passage?

A. Good packaging is an effective marketing strategy.

B. Customers like reusable containers because they think the containers are free of charge.

C. The size of the package is also a way of advertisement.

D. Buyers are only interested in the package of a product.

10. What does the sentence “The words and pictures do not tell the whole story.” imply?

A. The quality of the container has little to do with that of the product

B. The words and pictures are only part of the product.

C. Customers are advised to buy a product in a plain package.

D. A good product needs no packaging.

Passage 2

Air pollution can spread from city to city. It even spreads from one country to another. Some northern European countries have had “black snow” from pollutants that have traveled through the air from other countries and have fallen with the snow. So air pollution is really a global problem.

Air pollution can kill babies, older people, and those who have diseases with their breath. As found in cities, air pollution increases the risks of certain lung diseases.

Air pollution can cause both airplane and car accidents because it cuts down visibility. There are other possible health dangers from air pollution that we don’t know much about. For example, scientists are trying to find out whether chemicals that reach us from the air may cause changes in our cells. These changes might cause babies to be born with serious birth defects. Scientists are trying to learn how all the many chemicals we are apt (易于的) to take into our bodies work. That is another reason why it is so important to begin to control pollution now instead of waiting until we learn all the answers.

Air pollution costs us a lot of money. It corrodes (腐蚀) our buildings. It damages farm crops and forests. It has a destructive effect on our works of art. The cost of all this damage to our government is great. It would be much more worthwhile, both for us and for the government, to spend our tax dollars on air pollution control.
11. In what way does air pollution lead to airplane accidents?

A. It brings a lot of black snow.

B. It reduces visibility.

C. It makes the engines dirty.

D. It brings health dangers to the pilot.

12. Which of the following people is less sensitive to air pollution?

A. A man in his sixties.





B. A patient with lung disease.

C. A 3-month-old baby.





D. A lady in her twenties.

13. We human beings are still not sure about ____.

A. all the dangers to health caused by air pollution

B. whether pollutants can travel through the air

C. whether air pollution will make worse the condition of a patient with breath problem

D. whether we should spend money on air pollution control

14. Scientists believe there is a possibility that air pollution is connected to ____.

A. a person’s height






B. the intelligence level

C. birth problems






D. the moral standard

15. Which of the following statement is true according to the passage?

A. We should be able to answer all the problems concerning air pollution before we start pollution control.

B. Some factories should be forced to stop operating for the sake of environment protection.

C. Pollution is more serious in developing countries than in developed ones.

D. We should take immediate measures to control pollution rather than wait until we know all about it.

第三部分：词汇和结构 （共15小题；满分25分）

第一节：此小节共有5个未完成的句子，每小题3分，针对每个句子中未完成的部分有4个选项，请你从A﹑B﹑C﹑D四个选项中，选出可以填入空白处的最佳选项。
16. ____ last Monday, you would have got to Hong Kong.

A. If you
left







B. Would you leave

C. If you were leaving





D. Had you left

17. I prefer to further my education abroad rather than ____ now.

A. start to work

B. to start work

C. starting to work

D. started work

18. At first, she disliked her present job very much, but ____ she began to take interest in it.

A. properly


B. secondly


C. especially


D. gradually

19. Don’t ____ to contact us if you have any problem with your work.

A. mind



B. pause



C. hesitate


D. stop

20. While reading, one should concentrate on the meaning given by the text ____ on the variety of possible meanings of individual words.

A. more than


B. rather than


C. other than


D. than

第二节：此小节的短文中共有10个空白处，每小题1分，针对每个空白处有4个选项，请你从A﹑B﹑C﹑D四个选项中，选出可以填入空白处的最佳选项。
There are many national parks in the United States. Yellowstone is the oldest and largest,  21   for its hot springs. Grand Canyon is  22  often visited by tourists, which is famous for its colorful, mile-deep valleys. Each year, millions of Americans crowd national parks on their vacations,  23  the beauties of nature.

Now, the United States has a new national park. It is Great Basin. It is the first national park in the western state of Nevada. The new park is in the eastern part of Nevada, near the border with the state of Utah.

An American explorer traveled through the area in the early 1800’s. He found the land  24   like a bowl. So he named it the Great Basin. It is a land of unusual beauty  25 sharp differences.

For example, you can climb a mountain covered with green forests, then cool yourself in a field of snow as you arrive at the  26 . Here and there, sharp rocks  27  out through the snow. Among the rocks you might see homes of the golden hawk, a bird that was once in  28  of dying out.

The state of Nevada had wanted a national park for more than sixty years. There have always been the  29  ideas from people who believed that a park would harm mining and agricultural  30  . The state government decides to set up the park and promises that mining will remain open, and that sheep and cows will continue to feed on the mountainsides.

21. A. used



B. looking


C. known



D. wanted

22. A. mostly



B. most



C. almost



D. nearly

23. A. spending


B. choosing


C. building


D. admiring

24. A. shaped



B. sized



C. discovered


D. figured

25. A. or



B. but



C. for



D. and

26. A. top



B. foot



C. bottom


D. surface

27. A. send



B. spread



C. stick



D. pull

28. A. risk



B. danger



C. need



D. case

29. A. similar



B. opposite


C. same



D. sensible

30. A. workers


B. values



C. customs


D. interests

第四部分：写作（满分15分）

要求你在30分钟内，根据下面所给的题目用英语写出一篇不少于80词的短文。

My Spare Time
参考答案4 
Part I  Use of Englsih   1-5 CABDD    
Part II  Reading Comprehension    6-10 CBADA   11-15  BDACD  
Part III  Vocabulary and Structure   
Section A   16-20  DADCB
Section B   21-25 CBDAD     26-30   ACBBD
Part IV Writing    (略)
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